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Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE
TOLD TO DO SO.

2. Write your name and registration number on the cover of this
question booklet.

3. If the information printed on your answer sheet is not correct, please
inform the invigilator immediately.

4. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next to
each answer box. No mark will be given if you failed to follow this
instruction.

5. Unless otherwise specified, all answers must be in exact value and in
its simplest form. Writing the units for the answers is NOT necessary.

6. Rough-work sheets provided will be collected at the end of the contest
but they will not be marked.

7. Diagrams in this question booklet are not necessarily drawn to scale.

PREF : 50 78

ARFFERTER.
ELZEJRHN -

1. REMBEE, 2B EEE.

2. mELFEEFENEEMCES LIRAERE RERRIR.

3. MZHEEMLIHNENZERMGES. MERE, BFEF.
4

CIFRERVABEEBMRN, WARMEES. FOEBENELER
BAMERE, TRZEERAEEERE.

5. REEEHARE, MAERNAFTETEMN, BLAMNERBER
REAART.

6. LETEREZ GO ELMNERK, EERRLMAEEHEMX
FE[E R A ERERM .

7. Mt EE A M B AR — E R L B 4G Y -
© 2022 MathConcept Education

fn Question Booklet

—m
Jm



MathConceptition 2022

For question 1 to 10, the answers must be expressed in integer or decimal.

HEI1Z10E, EXVAMEHSH /MR

1) 56.23+89=2? [1%]
2)  64.2-642=2 [1%]
3)  34x25=2 [1%]
4) 2350 x 0.01 =2 [1%]
5)  425%x9.2=2? [1%]
6) 43x0.5=2 [1%]
7) 472 +25=9 [1%]
8) 64 x15+30="2 [1%]
9) 24+ 25%=2 [1%]
10)  96.2+3.2 +0.16="2 [1%]
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For questions 11 to 15, the answers must be expressed in proper
fraction, integer or mixed number.

BE 11 Z215&8, ERVAUETH. BHAFITHERT.

11) Evaluate 3 + 12 :
6 8 [1%]
A 3+ — o
T8 e
12) Evaluate 54% + 21% — % : [1%]

T8 54% +21% — ; o

13) Evaluate I — ; N [1%]

15 25 5

s 11 1 1
HE] . — - v
TR 5 15 25 5
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14) Evaluate 42 + % X 0.3 + % [1%]
- 2 3
= + — X03+—,
TH 42 s X 03+ —

15) Evaluate 70% —(% + % ) ( [1%]

%+%70%+(%+i)0

15
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16) Walking from sports ground to school, Olivia spent 84 minutes, [2.0%]
Mia spent 4501 seconds, and Isabella spent 1 hour. Whose
speed was the fastest?

REMNGEEER, NERET 84 0iE, NERT
4501 #, INEXTET 1 /INBF. HERIEERFIR?

17) The area of the front side of the cube is 121 cm?. When [2.1%]
the cube below 1s cut into a net, what 1s the area of the net
in cm?2?

TEEFEOERRRES 121 EHER. 0E5E
B—EEEEEE . SEREENERES DT HE

\Il?

121 cm?
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18)  There are 40 questions in a competition. James answered [2.2%]

75% correctly. How many questions did he answer
wrongly?

L EH 40 ERE, NPEHT 75%, EHRTS

2 7

19) The price of lemon is $44/kg and the price of blueberry is [2.3%]
$75/0.5 kg. Mum bought 2.3 kg of lemon and 0.3 kg of
blueberry. How much did she pay?

BAFHESE 4 T, BELAFHNESE 75T, 1B
IBET 2.3 AT HESM 03 2FHESE. Mt T%

D5 ?
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20) Each cup of milk tea costs $15 and each mochi costs [2.4%]
$8.50. Betty had $87.50 and she bought 2 cups of milk tea
for her elder brother. At most how many mochi can she
buy with the remaining money?

MEENE 15T, KEEBEE8.5T. BERE
87.5 70, WEE TWMMHIMFAITT, R THERS
A EKfEE/ME?

21) A cuboid tank is 8 cm long, 12 cm wide and 15 cm tall. [2.5%]
There is some water in the tank, and the water level is
% of its height. What is the volume of water in the tank in

cm3?

_EEFRARESEK, M I12EK, 515EK,
EE R — LK, ﬁ'ﬁ7k1ﬁ%§%§%‘)§*ﬁ’\l%o REN
KHIBERE 2 % A>T 75 K ?
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22) The average height of A, B, C, D and E is 128 cm. 2 people [2.6%]
join the group and their average height is 163 cm. What is the
average height of these 7 people in cm?

H. 2. A. TAXAEANTEHESE 128 EX.
B2 AN, ME2 ANFEHNFER 163EXK,
E7 ANHEBHBSEREZDEX?

: - :
23) This year, Mum is 3 the age of Dad. Younger brother is 30 [2.7%]
years younger than Mum, and elder brother is 4 years older
than younger brother. If elder brother is now 6 years old,

what 1s the age of Dad?

4
SO, BBMENREEN <. B3 LEBEE 30
£, MPFUEEAIE. NEFFREcHK. 88

HRESERE?
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24) When 0.87 L of water is poured into the tank, the water [2.8%]
level will rise by 15 cm. Find the width of the tank in cm.

0.87 FHIKBINKIESE, KELEHT 15 EH.
KIEFEHNEERZDEX?

e

18 cm 15 cm
\ —
10 cm
25) Find the perimeter of shaded region in cm. [2.9%]

(Take = 3.14)

MEXRBEAM, kEBETBEAR. (Blm=23.14)
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26) The circumference of the circle is 47% cm. Find the area [3.0%]

of the shaded region in cm?. ( Take ©t = % )

EHERE 47% EX. EHEKXBBEMN, KEE

M MERE. (I n=% )

4 cm

4 cm

27) There was a total of 250 red and blue pens in a school. [3.1%]
40% of the pens were red pens. After an activity, 20% of
the red pens and 10% of the blue pens were used up and

threw away. How many pens are left?

AMEMBLEERAGEEF 250, 4% E2BHERZ
m+. FENEERE, 20% HIATEFR 10% HEERT
g, fTHEEES X
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28) David and his dad join the family beanbag race. David has [3.2%]
to run from point A to the center of the circular lawn to get
the beanbags, and then give the beanbags to his father at
point B. If the circumference of the lawn 1s 88 m, and the
average running speed of David is 4 m/s, how many

seconds will it take for David and his father to complete

the race? ( Take m = % )

EHRMEEESMTHRTFERILE. GHREMR AR
MEETEMHNPOREER, BRERIZEGEB
HHEEFLE. MREMAFERE 88K, MG
FHERZEF 4R, ERNESEZ DI T HETH

EE? <Esan=%>

P10
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29) 2 years ago, City A had x people. Last year, the population [3.3%]
increased by 5% compared to 2 years ago, and then
decreased by 5% in this year compared to last year. If the
population of City A this year is 11970, find the value of x.

HIETMEMEA x Ao EEAOLLWMERIEMT
5%, SELLEERILT 5% .. MRSERFETAD
2 11970, 3K x BY1&E.

30) Solve the equation N X. [3.4%]

P11
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31) At least how many consecutive even numbers have to be [4.0%]
chosen so that there must be at least one number that can be

divisible by 9?

RO MEEEEHT BED—BEEATLIHK O BIR?

32) What is the remainder when 422° + 35183123 is divided =~ [4.1%]
by 10?

4275 +35183_ 123 BRLL 10 BRI R EH A&

P12
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33) Three bottles of solutions A, B and C are mixtures of alcohol [4.2%]
and water. A weighs 250 g, of which 12% is alcohol;
B weighs 300 g, of which x% 1s alcohol; C weighs 100 g,
of which 50% 1s alcohol. Mixing all three bottles of
solutions, the new mixture contains 40% of alcohol. What
1s the value of x?

ARZA= B ERSIKMRRLERAR. FE2S0%,
Hd 12% 2iEfs: 2E3005%, Hfx% 2B
WE 1005, Hd 50% ilith. 4= BB RIE
A&, MBREER 40% NERE. x NEEZD?

34) Given a certain number has three factors. If the sum of the [4.3%]
number and twice that number is equal to 8427, find the
sum of all factors of that number.

EHNEHE=(EAHEE. EZHEAZENMEZNE
BR 8427, KeZEIRIFE gLz F0.

P13




MathConceptition 2022

35) Each sheep consumes water in a lake at a constant rate [4.4%]
while the water in the lake increases at a constant rate
every day as it rains every day. If 16 sheep consume the
whole lake in 8 days and 28 sheep consume the whole
lake in 4 days. How many sheep would be needed to
consume the whole lake in 16 days?

BEFXFESXGIHER—EHERK, MIBBELFE
XMET—EMENW, FMUEXHENKESIE N
—ERE. 16 EEXIF S XEIRTHERNK, 28 EF
184 XEBTHENK. ZDEEXIR 16 XGWBTH
9k ?

P14




MathConceptition 2022

36) When the sum of digits of month and days is 13, this [4.5%]
day 1s a “Lucky Day”. For example, 28" March means
“2+8+3=13"and 28" December means ‘2+8+1+2=13",
thus they are both “Lucky Days”. How many “Lucky
Days” are there between 1% anuary 2020 and 3 1¥December
20307

HHpMEFRMNEZFE 13, BliEXE [FH] .
Han, 3 H28 HEP [3+2+8=13] ;: 12 A28 HEP
[1+2+2+8=13] , FRLAiEmKR#P=E [FH .
200 1 B1 HE 2030 £ 12 31 HZzBEZ/ME
==

P15
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37) Thereis ajob. It takes 12 days, 18 days and 10 days for A, [4.6%]
B and C to complete the job alone respectively. If Aand C
work together for 3 days, and then B completes the
remaining parts alone, how many minutes do A, B and C
take to complete the whole job this time?

—ipTE, B, 2. REBAEHRPAIEE 12 K. 18
x. 10 x. BFIREHEIET 3 X, B TIEERH
CEBETR. B. 2MRAEXRERIEEET S

IyEE?

120 120,120 120

38) Find the value of
) ind the value o 9 7 o1

[4.7%]

. 120 120 . 120 120
> — + — + ... /B )
x 3 9 27 81 HE

P16




39)  Solve (x—100)(x—92)— (x—100)(x—97)=10. [4.8%]

MR (x—100)(x—92)— (x—100)(x—97)=10.

40) When a number is divided by 2, 3 and 11, the remainders [4.9%]
are 1, 2 and 4 respectively. And the number is divisible by
17. Given that it 1s a three-digits number, find the smallest
possible value of that number.

FEERIL 2 IBEIRE 1. PR3 HIBREIE 2. FRL 11
HEREE 4, BT 17 B, SHZBERE={
B, KezE B/ \TTRE(E .

End of paper
5T

P17
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